SOUTH SAN ANTONIO INDEPENDENT SCHOOL DISTRICT



Agenda Item Summary

Meeting Date: April 24, 2024

Agenda Section: Consent

Agenda Item Title: Approve the purchase of McGraw-Hill Texas 6-12 Social studies curriculum

From/Presenters: Millicent Marcha, Chief Academic Officer Vanessa Dominguez, Director of Teaching & Learning

Description: McGraw-Hill Texas Social Studies will provide 1 year digital student edition and teacher edition subscriptions for 6-12 in English and Spanish.

Historical Data: This will be our eighth year using McGraw-Hill Texas Social Studies as our district curriculum resource for 6-12 Social Studies.

Recommendation: Approve the purchase of K-5 McGraw-Hill Texas Social Studies curriculum materials for the 2024-25 school year.

Purchasing Director and Approval Date: Victoria Cantu | April 10, 2024 | Procurement Method (RFP 2023-11 General Student Learning)

Funding Budget Code and Amount:

Goal: SSAISD will increase academic achievement for all students and thus closing the gap between student populations in pursuit of advanced performance.

Mc Graw Hill

Because learning changes everything.

QUOTE PREPARED FOR:

South San Antonio Isd SPECIAL ED DEPT SAN ANTONIO, TX 78242 ACCOUNT NUMBER: 401622

CONTACT:

Stella Benavidez stella.benavidez@southsanisd.net 2106300133

SUBSCRIPTION/DIGITAL CONTACT:

Stella Benavidez stella.benavidez@southsanisd.net 2106300133

SALES REP INFORMATION:

Liz Flores liz.flores@mheducation.com (210) 854-0233

| Section Summary | | Value of All Materials | Free Materials | Product Subtotal |
|---|-----------------|---------------------------|----------------|------------------|
| Tx Social Studies 2024-2025-1yr digital | | \$49,561.59 | (\$752.52) | \$48,809.07 |
| | PRODUCT TOTAL* | \$49,561.59 | (\$752.52) | \$48,809.07 |
| | ESTIMATED S&H** | | | \$0.00 |
| | ESTIMATED TAX** | | | \$0.00 |
| | GRAND TOTAL* | | | \$48,809.07 |

* Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.

Comments:

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 04/09/2024 SRICH-04092024023726-001 ACCOUNT NAME: South San Antonio Isd ACCOUNT #: 401622 EXPIRATION DATE: 08/07/2024 PAGE #: 1



Because learning changes everything."

| Product Description | ISBN | Qty | Unit Price | Free Materials | Line Subtotal |
|---|-------------------|-----|------------|----------------|-----------------|
| Tx Social Studies 2024-2025-1yr digital | | | | | |
| WORLD CULTURES & GEOGRAPHY TEXAS STUDENT LEARNING CENTER W/LEARNSMART 1YR BUNDLE | 978-0-02-133161-1 | 554 | \$12.99 | \$0.00 | \$7,196.46 |
| WORLD CULTURES AND GEOGRAPHY TEXAS ONLINE TEACHER CENTER 1YR SUBSC | 978-0-02-137511-0 | 6 | \$12.99 | \$77.94 | *Free Materials |
| WORLD CULTURES GEOGRAPHY TEXAS LEARNSMART TEACHER EDITION 1 YEAR SUBSCRIPTION | 978-0-02-144589-9 | 6 | \$3.99 | \$23.94 | *Free Materials |
| TEXAS HISTORY STUDENT LEARNING CENTER WITH LEARNSMART 1 YEAR BUNDLE | 978-0-02-131031-9 | 495 | \$12.99 | \$0.00 | \$6,430.05 |
| TEXAS HISTORY 2016 TEACHER CENTER (DIGITAL ONLY) 1 YEAR SUBSCRIPTION | 978-0-02-136048-2 | 6 | \$12.99 | \$77.94 | *Free Materials |
| TEXAS HISTORY LEARNSMART TEACHER EDITION 1 YEAR SUBSCRIPTION | 978-0-02-141964-7 | 6 | \$3.99 | \$23.94 | *Free Materials |
| UNITED STATES HISTORY T/1877 TEXAS STUDENT LEARNING CENTER W/LEARNSMART 1YR BNDL | 978-0-02-130426-4 | 460 | \$12.99 | \$0.00 | \$5,975.40 |
| UNITED STATES HISTORY TO 1877 TEXAS TEACHER LESSON CENTER 1 YR SUBSC | 978-0-07-659819-9 | 6 | \$12.99 | \$77.94 | *Free Materials |
| UNITED STATES HISTORY TO 1877 TEXAS LEARNSMART TEACHER ED 1 YR SUBSC | 978-0-02-141537-3 | 6 | \$3.99 | \$23.94 | *Free Materials |
| WORLD GEOGRAPHY TEXAS STUDENT LEARNING CENTER W/LEARNSMART 1 YEAR BUNDLE | 978-0-02-131609-0 | 546 | \$12.99 | \$0.00 | \$7,092.54 |
| WORLD GEOGRAPHY TEACHER LESSON CENTER 1 YEAR SUBSCRIPTION | 978-0-02-143349-0 | 5 | \$12.99 | \$64.95 | *Free Materials |
| WORLD GEOGRAPHY TEXAS LEARNSMART TEACHER EDITION 1 YEAR SUBSCRIPTION | 978-0-02-144597-4 | 5 | \$3.99 | \$19.95 | *Free Materials |
| WORLD HISTORY TEXAS STUDENT LEARNING CENTER W/LEARNSMART 1 YEAR BUNDLE | 978-0-02-130626-8 | 584 | \$12.99 | \$0.00 | \$7,586.16 |
| WORLD HISTORY TEXAS TEACHER CENTER 1 YEAR SUBSCRIPTION | 978-0-07-660606-1 | 5 | \$12.99 | \$64.95 | *Free Materials |
| WORLD HISTORY TEXAS LEARNSMART TEACHER EDITION 1 YEAR SUBSCRIPTION | 978-0-02-144610-0 | 5 | \$3.99 | \$19.95 | *Free Materials |
| UNITED STATES HISTORY SINCE 1877 TEXAS STUDENT LEARNING CENTER W/LRNSMRT 1Y BNDL | 978-0-02-131381-5 | 608 | \$12.99 | \$0.00 | \$7,897.92 |

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 04/09/2024 SRICH-04092024023726-001 ACCOUNT NAME: South San Antonio Isd ACCOUNT #: 401622

| EXPIRATION DATE: | 08/07/2024 |
|------------------|------------|
| PAGE #: | 2 |



Because learning changes everything.

| Product Description | ISBN | Qty | Unit Price | Free Materials | Line Subtotal |
|---|------------------------|-------------|------------------|----------------|-----------------|
| UNITED STATES HISTORY SINCE 1877 TEXAS TEACHER CENTER 1YR SUB | 978-0-07-660857-7 | 5 | \$12.99 | \$64.95 | *Free Materials |
| UNITED STATES HISTORY SINCE 1877 TEXAS LEARNSMART TEACHER ED 1 YR SUBSC | 978-0-02-139672-6 | 5 | \$3.99 | \$19.95 | *Free Materials |
| | | | - | - | |
| UNITED STATES GOVERNMENT TEXAS STUDENT LEARNING CENTER 1 YEAR BUNDLE COMPONENT | 978-0-02-135791-8 | 224 | \$12.99 | \$0.00 | \$2,909.76 |
| UNITED STATES GOVERNMENT TEXAS TEACHER LESSON CENTER 1 YEAR BUNDLE COMPONENT | 978-0-02-135792-5 | 2 | \$18.99 | \$37.98 | *Free Materials |
| | 1 | | | | |
| ECONOMICS TEXAS STUDENT LEARNING CENTER 1 YEAR SUBSCRIPTION | 978-0-02-145166-1 | 112 | \$12.99 | \$0.00 | \$1,454.88 |
| ECONOMICS TEXAS TEACHER LESSON CENTER 1 YEAR SUBSCRIPTION | 978-0-02-145663-5 | 2 | \$12.99 | \$25.98 | *Free Materials |
| | | | | | |
| PSYCHOLOGY STUDENT LEARNING CENTER, 1-YEAR SUBSCRIPTION | 978-0-07-664076-8 | 65 | \$17.43 | \$0.00 | \$1,132.95 |
| PSYCHOLOGY, TEACHER LESSON CENTER, 1-YEAR SUBSCRIPTION | 978-0-07-664080-5 | 1 | \$64.11 | \$64.11 | *Free Materials |
| | | | | | |
| SOCIOLOGY STUDENT LEARNING CENTER, 1-YEAR SUBSCRIPTION | 978-0-07-664064-5 | 65 | \$17.43 | \$0.00 | \$1,132.95 |
| SOCIOLOGY TEACHER LESSON CENTER, 1-YR SUBSCRIPTION | 978-0-07-664066-9 | 1 | \$64.11 | \$64.11 | *Free Materials |
| | Tx Social Studies 2024 | -2025-1yr d | igital Subtotal: | \$752.52 | \$48,809.07 |

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691 ACCOUNT NAME: South San Antonio Isd

QUOTE DATE: QUOTE NUMBER: 04/09/2024 SRICH-04092024023726-001

ACCOUNT #: 401622

EXPIRATION DATE: 08/07/2024 PAGE #: 3



Because learning changes everything.

QUOTE PREPARED FOR:

South San Antonio Isd SPECIAL ED DEPT SAN ANTONIO, TX 78242 ACCOUNT NUMBER: 401622

CONTACT:

Stella Benavidez stella.benavidez@southsanisd.net 2106300133

SUBSCRIPTION/DIGITAL CONTACT:

Stella Benavidez

stella.benavidez@southsanisd.net 2106300133

Comments:

Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mhecoast2coast.com).

School Purchase Order Number:

Name of School Official (Please Print)

Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 04/09/2024 SRICH-04092024023726-001 ACCOUNT NAME: South San Antonio Isd ACCOUNT #: 401622 EXPIRATION DATE: 08/07/2024 PAGE #: 4

| GRAND TOTAL | \$48,809.07 |
|---------------------------------|-------------|
| ESTIMATED TAX** | \$0.00 |
| ESTIMATED SHIPPING & HANDLING** | \$0.00 |
| PRODUCT TOTAL* | \$48,809.07 |
| FREE MATERIALS | (\$752.52) |
| VALUE OF ALL MATERIALS | \$49,561.59 |